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1. (20%) Find the y(¢) if its Laplace transform is as follows:

s+1
U= —s

2. (15%) Find the solution of the initial value problem.
I ¥ - r 1
4y" —By'+3y =0, y(0)=2, y(0)=5

3. (15%) To iilustrate matrix multiplication is not necessarily commutative, consider the following

matrices, and compute to show that AB#BA.

1 -2 1 2 1 -1
A={0 2 -1}, B=(1 -1 0
2 1 1 2 -1 1

4. (20%) Let r(t) be the position vector of a moving particle where t (= 0) is time. Find the tangential
acceleration and the normal acceleration of the motion given below.
r(t) = ti — t?j
5. (15%) Given a force p = 4xyi — 8yj + 2K, find the work done by p in the 'displacement along a
straight line given below.

y = 2x,z = 2x from (0, 0, 0) to (3, 6, 6)

6. (15%) Find the Fourier series of a function of period p = 2L given below.

0 f—-2<x<-1
fX)=k if—-1<x< 1,p=2L=4,L=2
0 if 1<x<2
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